
SAP ABAP table TPTCOR_TCONSTR {ESS Correction Scenario: Table of Periods}

TPTCOR_TCONSTR

MANDT [CLNT (3)]

WEBMO [CHAR (8)]

ENDDA [DATS (8)]

PRMO_ARQ_POS_SNC [NUMC (2)]

PRMO_ARQ_POS_TIL [NUMC (2)]

HRWEB_RULE_GROUP

MANDT [CLNT (3)]

WEBMO [CHAR (8)]
 TPTCOR_TCONSTR-WEBMO = HRWEB_RULE_GROUP-WEBMO 

0..N

0..N
T000

MANDT [CLNT (3)]
 TPTCOR_TCONSTR-MANDT = T000-MANDT 

0..N
0..N

T549R

MANDT [CLNT (3)]

PERMO [NUMC (2)]

 TPTCOR_TCONSTR-PRMO_ARQ_POS_SNC = T549R-PERMO 

0..N

1

 TPTCOR_TCONSTR-PRMO_ARQ_POS_TIL = T549R-PERMO 

0..N
1


